

(c) Make d the subject of the following formula.



$$4(d - 2e) = 7 + 3e.$$

.....

.....

.....

.....

.....

(b) Make n the subject of the formula



$$4(2n + x) = 6x - 5.$$

(b) Make n the subject of the formula



$$\sqrt{3n + 4p} = m \quad .$$

.....

.....

.....

.....

.....

(b) Make t the subject of the formula:



$$2n + 5 = 3(8 - 3t)$$

.....

.....

.....

.....

.....

(c) Make d the subject of the following formula.

$$h = \sqrt{t - d}$$



13. Make p the subject of the following formula.



$$a(3t - 2p) = p(3b - w) - w$$

16. Make x the subject of the following formula.

$$y = \frac{x+9}{2x-5}$$



16. Make x the subject of the following formula.

$$y = \frac{3x + 4}{5x + 2}$$



23. Make c the subject of the following formula. Simplify your answer.



$$c(5b - a) = a(c - 3b)$$

.....

.....

.....

.....

.....

.....

.....

.....

16. Make e the subject of the following formula.



$$\frac{d(2 + e)}{5 - e} = 3$$